Kapitel 3 Vokabeln - Arbeitsblatt

A. Kapitel3CEM.docx

Write down 5 Collocations/Examples/Mnemonics from Kapitel3CEM.docx that you want to remember:

1.

2.

3.

4.

5.

B. Schreiben Sie… [For numbers 1-5, list multiple things!] Note: Ich kann gut… = I'm good at…
1. Ich esse gern __________________________________________________________ und __________.
2. Ich esse nicht gern ______________________________________________________ und __________.

3. Ich kann gut __________________________________ und __________ [write infinitives of the verbs].
4. Ich kann nicht so gut ____________________________________________ oder _________________.
5. Was gibt es in Ann Arbor? (a) Was bedeutet "Es gibt"? ________________ Gibt es in Ann Arbor einen 

Bahnhof? ____ Ein Schloss? ____ Was ist eine Sehenswürdigkeit in A2? ____________________________
6. Which is more certain:  ___ vielleicht  ___ wahrscheinlich

7. Was ist immer langweilig? _______________
C. Was passt nicht? [=What doesn't fit?]

Schreiben Sie drei "Was passt nicht?" [=What doesn't fit?] Fragen mit den Kapitel 3 Vokabeln.

z.B. a. sicher
b. wohl
c. vielleicht
d. bestimmt
==> "vielleicht" passt nicht, denn [=because] es it nicht so sicher [=it's not as certain].

Notes: 

· It's OK to use English or "Denglisch" when you give the reason (i.e. after "denn")

· Know the meanings of all four words you write for each question: in class, you will ask your classmates these questions, and they may ask you what the words you chose mean

· The reason why the fourth word doesn't fit can be logical, as in the above example, but can also be things like "denn X ist kein Verb" [the other three are verbs, but X is not] or "denn X ist ein langes Wort" [the other three are short], or even something like "denn X beginnt nicht mit 'A'." It can also be subjective, like "denn ich schwimme nicht gern" if the other words were things you like to do.

· It's OK if you have just three options instead of four for one or two questions - but then there needs to be a good, logical connection between the two words that fit together.

a.
b.
c.
d. 

==> ____________ passt nicht, denn ______________________________________

a.
b.
c.
d. 

==> ____________ passt nicht, denn ______________________________________

a.
b.
c.
d. 

==> ____________ passt nicht, denn ______________________________________

